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Question Number : 1 Question Id : 3419799250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The scarcity principle is also called as:
FES e [675 dore

Options:



The Invisible Hand Principle

©)F; TR0 IFGo © SrEe ©oirdd

The equilibrium principle

JDTey Ar@o ©d Trne ©otrd

The Low-Hanging- Fruit- Principle
5P AHS® IHHY) Do o © e ©oird.

The No-Free-Lunch- Principle
éow;&’:& Fedo addorr 89 A0 ©l) Ere @0Er

Question Number : 2 Question Id : 3419799251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following assumption is generally used under the partial equilibrium
approach?

Bod =&° & @faiﬁﬁ%j PBE 5T é@,ﬁacﬁoés FEEorT SR@ERATED?

Options:

Prices of all commodities are determined simultaneously
o) SQPJo FHdex 2 Brd o8 o0 o o 58 @gwoé:&cﬁ&o
1, !

Ceteris paribus
; =hite] é&ﬁ@:ﬁi}@:} SeBionE Gotio

Prices of all factors are determined simultaneously
. ©f) SO v 2 Bard 25 S 286 NVelerloininlatsle

Other things do not remain constant
288 5@%@0@ Sr8%omE A0Sy
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Question Number : 3 Question Id : 3419799252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is an example of macroeconomic paradox?

Bod =S° D& pe 688 S506%A8 anrte?

Options:

The paradox of thrift
Seed) BH6850

The paradox of profit

(o] Qﬁ&é&o
o

The paradox of production

. &8 35680

The paradox of revenue

el F00E0
4

Question Number : 4 Question Id : 3419799253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

In relation to which of the following commodities, the quantity purchased by a consumer,
after a fall in price is less than the quantity purchased in the beginning?

Bod =0&° & SRD e Sonohod, B égé o8 DATPRTD EPofen D S SBSres0
BB0%50E® Efen Tn S DOm0 B0l SEPre 4oinod?
Options:
Superior goods

ew 88 Spsyen
1.

Normal goods
, TS HDHen



Giffen goods

Inferior goods

TrabEo SpPen
4

Question Number : 5 Question Id : 3419799254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
If two commodities are perfect substitutes, the indifference curve becomes a:
Soth SJen R’JD@? @Eﬂ&&w&cﬁﬁgés’%:pd} artder 55@333:

Options:

- Straight line with positive slope

$5% Do aod cﬁaﬂééﬁ o B5OA dotnod
1.

Straight line with negative slope
LEECe aod :a::eaﬂééﬁ ooy BOA &otnod

Parallel to X axis with infinite slope
X ozl8 Sdro8torr 606 @08 e BOA éotnod

Parallel to Y axis with zero slope

Y o508 Sdrostorr &od Ly e DA @otnod
4

Question Number : 6 Question Id : 3419799255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
According to cardinal utility analysis, if marginal utility from X commodity is more than
its price, the consumer can:
SRS [H@ras DFHm Hoedo, X $HRod Srol earod ([HEreNo $EE0E LB eod

DATENT0:
Options:



Increase his total utility by purchasing less units of X commodity
X 3090 SEdre FHor 3D Ingo ERremrl)) DoDEHD)
1.
Increase his total utility by not purchasing X commodity at all
X S99 ol 2 FHF e Tchdor Indo (HAarR) HoHE BN
2.
Increase his total utility by purchasing more units of X commodity
X S50 HPre FHf‘en Dahéro oror, Iwdo (HRreeR) HoHE RN

=

Maintain his total utility constant by purchasing more units of X commodity

X S09%5 %dre Sffer Badéo oooe Iwdo (HRreTe) QBorr 085
4

Question Number : 7 Question Id : 3419799256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following do not form part of demand curve?
Bod =JE° D& &5rol Tw&® JSowoo ¥OA BH?
Options:

Positive price and positive quantity

eﬁm‘%ﬁ B8 S8 eﬁaﬁééﬁ DB&:E0

Marginal utility curve above the X axis
X o &0G &arod (H@Bredty

Zero marginal utility from a commodity
S0P H00b FroBd PRy earod (HRPeSo

Marginal utility curve below the X axis
) X ©Zo &HIS 6ot aarod (HEred O



Question Number : 8 Question Id : 3419799257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following is not a reason for shift in demand curve?
Bod TUS° D& Bsrol Ted® KEOED so8t0 otH?
Options:
Change in income of a consumer
1 DARPKTER Berahos” Sy
Change in price of a commodity
. 50H $BE° Sy

Change in tastes of consumers
, AT eoibed” Hrdy)

Change in prices of substitute commodities
, Bepimed Shde es Sy

Question Number : 9 Question Id : 3419799258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The value of price elasticity of demand = 2, original price= Rs 10, original quantity =
25 units. After a fall in price, the net increase in quantity demanded is 4 units. What

IS new price?

&8 BSrolh o':ﬂa;"‘aiﬁé;o Dend =2, B0 &8 = 10 Erarowes, (@808 HBSro =25

CSrRén. B8 SAS ST ERCen HoXros” Jed EHSO 4 APy IS 55 Jos?
Options:

Rs 8.20

1 8.20 Srarchen

Rs 9.50

9.50 &raraden

2



Rs 7.40
7.40 Sraraden

Rs 9.20
9.20 rarohen

Question Number : 10 Question Id : 3419799259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What is the shape of supply line in case if the supply of a commodity is unitary elastic?
2.8 30D SR DB B SwQ) BOA SRRPED, SHP BTE0 DGO 0o ?

Options:

45° line which pass through origin

Soreo o) Efé@ 45° B

.,
175° line which pass through origin

Lo Lo IF 175° By
>

45° line which cut X axis
X Oz polo) 45° By

45° line which cut Y axis

Y ozl o803 45° By
4.

Question Number : 11 Question Id : 3419799260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The nature of which of the following is indicated by the backward bending supply
curve?

IHE% 7O @od $RD O (Bod =0s® D Srerard) SrORos?

Options:



Supply of luxury goods

Do SHe Y

Supply of electricity
DELE P>
3 il
Labour supply
(BPE JR®
=
Supply of superior goods

DenBED SHe PR
4.

Question Number : 12 Question Id : 3419799261 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
According to the Law of Variable Proportions, when average product of labour is
maximum, the marginal product of labour is:

oo arere SREo Esto, (B8 Siitn 6818 KoRorr RSP, (T GErod a8)8:
Options:
More than average product of labour

| D8 dren a8 ZoB 58 Gotnod

Less than average product of labour
(@808 SKén 688 Bod SENRMT 0o
z.
Maximum and equal to average product of labour
KOLOre 606 (BPaE DNén e85 Jsdorre aotnod

Less than maximum and equal to average product of labour

K820 Bo8 SENmre ok (7708 JKtn af)B8 JeRore eotnod
4



Question Number : 13 Question Id : 3419799262 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

The demand price is =Rs 20, the supply price is =Rs 10 and the equilibrium price in the
market is= Rs 14. What is the producer surplus?

&R0l 5 20 Grarabes, DHOd &8 10 Graraben $o8akn SrSESE” STy 5 14 Srarcden.
a8 b Jos?

Options:

1 Rs 10

Rs 4

z.

Rs 6

&

, Rs 16

Question Number : 14 Question Id : 3419799263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Which of the following isoquant indicates that capital and labour are fixed coefficients?
@o&agjéa ) SEv LA B, Sreibo $HdSsH (B0 %@335 roeasren ©f Jrdpod?
Options:

L shape isoquant

~

L om8) S3rE)8 By

Convex isoquant
Srer8 Hogrodorr 4ot SarsE oY

Concave isoquant
Sorer8 JHeroelorr Got SEwLA B

Triangular isoquant
Behero8) STEG O



Question Number : 15 Question Id : 3419799264 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is not a cause for internal economies of scale?
Bod TV 0B woSPS $5:F erred 8o TH?

Options:
Division of labour

5 D5

Technical factors

5 TFLondE woTren

Location of large number of firms at one place
28 (@B308° ) Sogys® Joge B

Production of by-products
BHSRHODH aGB Dok

Question Number : 16 Question Id : 3419799265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following is an example of explicit cost?
Bod TS° DB (HESHS 058 o8 erEdetes?
Options:
Interest on own funds

ro8 Qe &

Rent of own building
o 358 ©g

Interest on borrowed funds

OQPre NN Ao 66523
3



Payments to own labour

el B BDodew
4

Question Number : 17 Question Id : 3419799266 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Total output=100 units, total cost= Rs 20000, total variable cost = Rs 14000. The average
fixed cost is:

Ingo €8 = 100 cHrey, Ingo Sabo= 20,000 Grarades, o $BHeHo = 14000
Erarodhen biriew {5 Spodor
Options:

Rs 1340
1340 Sraraben

Rs 60
60 Srarashen

Rs 140
140 Srarasen

Rs 200
200 &raroden

4.

Question Number : 18 Question Id : 3419799267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The minimum point of the long-run average cost curve indicates:
HETOE dien Spaity @Y 505 Do) BRI Frdkes?
Options:
Optimum output

©DoRBoD AL
1.



Less than optimum output

©fo3dcsh =LA %08 SEND
2

Inefficient level of output
=~ ™ lu -
. @mg 6$3 RPom
More than optimum level of output
©RoBB5 %mﬁoéﬁ BN

4

Question Number : 19 Question Id : 3419799268 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In social accounting method, gross domestic investment is an item of income of:

Pon% Keed a’ac&&é‘? ":IJ:;@ g ens '5‘.::&;&:3& Boba&® B8 swrodh wodo:

Options:

Government sector
(%0 Boro

Household sector
@-5’? soro
V2

Business firms sector
erard Dode Boio
= ¥ <o

Capital sector
) Saredd oo

Question Number : 20 Question Id : 3419799269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



GNP at market prices= Rs 500, depreciation is 10% of GNP at market prices, indirect
taxes Rs 20 and subsidies Rs 100. What is the value of NNP at factor cost?

SrB)S 608" SpeoBiErE)8 = 500 Erarchen, SrOES $80S° Sro BEEFEE SHIvve
10% $H8% Sgen 20 Srdraden HBa» Shder 100 draraber. 88 wbore pbd Gk
QB BT S Deod Jod?

Options:

1 Rs 450
Rs 480
Z.
Rs 570
=,

Rs 530

4

Question Number : 21 Question Id : 3419799270 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

National income at constant prices also known as:
28 BBOE erBOSrTrasrl) 3675 Dgorr DR Levrrd?
Options:
National income at current year prices
8 SoBEB SB0S° w8 oirTraDo
14
National income at future prices
| 8DLS o mdarmabo

National income at near future prices
S0 PVLE PBeS® ersarrrabo

National income at base year prices
T8 S0S5ES BBeS® &m0



Question Number : 22 Question Id : 3419799271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is not one of the assumptions of Classical theory of employment?
Bod TS° DB Forred a&shTe i:t:q?oéoés 2.8 [HRcho ?
Options:
There is full employment in the long run

&gﬁﬂoé‘s éo@ﬁéﬁ%ﬁé B0e0od.

No excess production in the long run
&35“@0@6 VELE S SO

Presence of involuntary unemployment in the long run
&gﬁﬂoéﬁ @Eﬂjﬁ ﬂéaﬁaaﬁé el vlelin

There is wage- price flexibility
DS - BB JBES doenod

4

Question Number : 23 Question Id : 3419799272 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In Keynesian theory of employment, aggregate supply price indicates:
BR) 88 5Ase Jrrosod’, HHY JRD §8 BI IrRos?

Options:
Maximum sale proceeds required at various levels of employment

DS ﬁﬁ%ﬁﬁﬂ éﬁ;cma: 5 oSN viysre K8Y Tl
"

Minimum sale proceeds required at various level of employment

DG & A %ﬂmﬁ 58 eHIEHS wlpsre 533 Teol
o e =



Maximum actual sale proceeds at various levels of employment

DG &b AT Pone  BE $5) RS wdysre K0R Tod
3

Minimum actual sale proceeds at various levels of employment

DY ﬂ&%ﬁﬁﬂ %w& 5 aﬁj TS oipre 533 Tral
4

Question Number : 24 Question Id : 3419799273 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In relation to Keynesian investment multiplier, income increased from Rs 100 to Rs
140 and consumption increased from Rs 80 to Rs 100. What is the change in
autonomous investment?

ﬁSﬁj Eaé,e:.graa& 0B Wo0b o), eecdo 100 Srarcde 508 140 Srarcded HBam DATKo
80 Grarade Xo& 100 Grarcheh 2OAB, Do (208 epnss® $T) &rdy) Jos?

Options:

'Rs 20

1

Rs 40
2.

Rs 60
=

, Rs 140

Question Number : 25 Question Id : 3419799274 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is true in relation to Keynesian consumption function?

55{‘] 5‘.':3«:'5; DAGFN Pood Sowodod) Bod 88 B ap?

o
Options:

MPC is more than APC
earos DIGEK (D8, JKtw DAGEK (D8 Sod I8

1.

&

=
]
=



APC is less than MPC
JKen DITEK (RS, earod DAIGFH (B8 Lob S8

MPC less than APC
608 DIGEK (D8, Srtw DIEFH (D8 Bob S

MPC=APC
408 DIFeK (BB = it DIEN PHB

o=

Question Number : 26 Question Id : 3419799275 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Prospective revenue from a capital asset in first year is Rs 1000, discount rate is 9%.

What is the present value of capital asset?

Srodd ol Hod Indd ﬁoééﬁgéoés 8005 oraé 1000 Srardben, &370n Bén 9%
PO vy ) (@R Hend Jos?

Options:

. Rs 987.43
, Rs 927.43

_ Rs 817.43

, Rs 917.43

Question Number : 27 Question Id : 3419799276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
According to Neo-classical economists’ which of the following is not a part of supply of

capital?
5 Frolrrad ©bE Ve (FHT0, EodTS® HB Hrerd SME® .8 o Tw?

Options:



Hoarding
ESE‘:J{;.‘P SHE Qererv Bo5HE 880
1.
Disinvestment
2n08 BBXEe
2, = L
Dishoarding
TSR Dered 20HeH &0De0

=

Bank credit

27r0%) SHBHS
4 9

Question Number : 28 Question Id : 3419799277 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
According to liquidity preference theory, speculative demand for money is:

Bz=f B vrrodo (FoeBo, woiTs TS (B8 &S0k
Options:
Income elastic
1 WTPOD maﬁ"“ée‘fa;o ZORA &0otnod

Interest elastic
, 56§_3 aﬂaﬁstﬁé;o ZOA &otnod

Income inelastic

: TP ©5E 1“5@;{: 2D &otnod

Interest inelastic

aﬁg’i_’; @5?555{5@5;0 2OA &otnod
4

Question Number : 29 Question Id : 3419799278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



In relation to macro economic variables, which of the following is a flow variable?
e @gﬁ Serosre Ho020809, (Bod TUE° M8 Harirseroto?
Options:
Gross National Product

o b =
, B S TS

Supply of money
(535 SR

2.

Accumulated savings
K00 SR

Inventories
a?:ﬁ;péaéw

Question Number : 30 Question Id : 3419799279 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In relation to measures of money supply, Currency held by the public= Rs 100, net
demand deposits with banks= Rs 50, other deposits with RBI = Rs 20 and M= Rs 190.

What is the value of saving deposits with post offices?

(B IRD Fo drrred Sonohod, [Heedd e Sied = 100 Sraraben, odHe S8 el
Dpt &5r08 &arBin= 50 traraben, Bl TpodH 3§ e a86&arein = 20 Srarchen
M, = 190 Srarohen wand DEPhie 3§ af) D &y Jod Jos?

Options:

. Rs 30
_ Rs 40

Rs 10

2

Rs 20

4

Question Number : 31 Question Id : 3419799280 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Which of the following is not a determinant of High powered money?

Bod TS DB L)L (B0 Ewd) Ipaho Tok?

Options:

Currency with the public

Bee 38 aF) I8
1

Statutory reserve ratio
y 08 Bel DS
Demand deposits
. &S0 Baréden

Ratio of excess reserves to deposits

e85 dulrob HbcD Aregd DI o) 98
4

Question Number : 32 Question Id : 3419799281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Neo-classical theory of demand for money is also called as:
3% Fodwrad e (B &krok E.:t:go@?)& 30575 Dforr QD LenTeL?

Options:
Cambridge cash balance approach

ﬁo@-é dries Vere Q,ﬁ;jcﬁo
1. B

Transactions approach to the demand for money
(5 ESrol ) segerd RSfore PEygo

Real balance effect approach to the demand for money
(B8 ESe08 Bw¥) 98 Jer, (DS PR wo



Milton Friedman’s approach to the demand for money
i . B e O L) oy < 5 n
. B E0BD 50208008 DS GRS @Y YH)&o

Question Number : 33 Question Id : 3419799282 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Who among the following authored a book titled ‘An Outline of Money'?
Bod TBE° IS ‘TGS ©HS B ©P HV &3 (Kol ELoTB?

Options:

A.C.Pigou

. I

M.Crowther
chan. B0
2.

Harry. G.Johnson
8.2, =S

Paul Samuelson
) S faﬂa‘éwﬂaeféE

Question Number : 34 Question Id : 3419799283 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is a supply side factor causing inflation in India?
Bod TVS° DB TBEBLS® (BS renerd8 SHID B =o6ee0?

Options:
Increase in money supply

85 DTS HibBe

Increase in government's expenditure on welfare programmes
SOTH SPsrep (Hehe Kohos® 1S



Shortage of critical inputs used in industrial sector

B8 BoKoS® GB@rACT Lo eome S5
3

Increase in disposal income of people

Sese KOS rreHos® EHE
4

Question Number : 35 Question Id : 3419799284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following is not a type of general insurance?
Bod TS DB Frrdes HErH Hoo0doAS a8 B0 TH?

Options:
Non-life insurance

1 L85 Lk

VVehicle insurance

PP B
2%

Health insurance
@65?“5 8o

=

Life insurance
£28 L8

4

Question Number : 36 Question Id : 3419799285 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In relation to the phases of business cycles, the movement of business cycle from
peak towards normal state line represents:
TS dlgre B0 Jonogod, axarbo HEo ﬁs-&ﬁj@e"j o0& TFories ?@ae".% BeRD Ewto BV

s ?
Options:



Depression
B vlelaiye

Recession
&85 K500

Expansion
De3

Recovery
BhenEiHe0

Question Number : 37 Question Id : 3419799286 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is true in relation to revenue curves?

oeod Deed Jonodod @o&m&)é‘? a8 eQp?

Options:
In perfect competition, there is a maximum point on total revenue curve

SISt EES®, Fwdo oo By ¥ K85 Dok eotoos

In monopoly, the slope of total revenue curve remains constant
DEFp0S”, Iwo Trwd Ty @wY) red PBore Gokwod

In monopoly, there is a maximum point on total revenue curve
DEEpos® Ingorrnd Ty o8 KR Dot Botwod

In perfect competition, average revenue curve slopes downward from left to right
éoaﬁ,ﬁg‘éﬁﬁééﬁ, SKen T8 By HESH0E HBE BobE srenidod.

Question Number : 38 Question Id : 3419799287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Price elasticity of demand on a linear downward sloping demand curve is 2, the average
revenue is Rs10. The marginal revenue is:

Bobé srendras) ﬁé?‘éa;ﬂééé &80 Bep §8 &Sm0l o':g;"aéé;o = 2 86 JKén ood =

10 Srarcier wond airosoend:
Options:

Rs 5
5 &marcdhen

1

Rs zero (0)
; BP0

Rs —2.5
- 2.5 Srarddhen

Rs -5
- 5 Brearoden

Question Number : 39 Question Id : 3419799288 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following is not a modern objective of a business firm?

Bod =&° 26 v éog SB¥), LY ﬁs@é@ o507
Options:
Output maximisation

~ o E\?‘:
. ﬁé‘?ﬂ ?‘ﬁa%ﬁgﬁﬁ
Profit maximisation

eess ﬁa%ﬁfﬁa@
>



Sales revenue maximisation

@é}é&'ﬂ@ oo KK
=3 @

Market share maximisation

afmaﬁ TR r‘?&%ﬁém
4,

Question Number : 40 Question Id : 3419799289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In a perfectly competitive market, total revenue = Rs 1200, Marginal revenue= Rs 60
and Average cost= Rs 40. Total profit is:

40 S0y ST &ﬁﬁéﬁ@ o Tw& = 1200 Srarcden, asrod ooad = 60 Sraren
HBA Bk Fpado = 40 Graraber ©ond Fngo eeo :
Options:

1 Rs 480

Rs 300
z.

_ Rs 800

, Rs 400

Question Number : 41 Question Id : 3419799290 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is true, at the short run equilibrium situation in monopoly?

DEF S oS® SreedE SHTexr 2EEE, BohrE® DB 2np?
o o [-¥Ir-¥ 2 o =¥

Options:

MC > MR
&5r08 Hodo, sarod Trrndlod HBS
i
AR < MR

; SRen b asrosd ooméEod SENS



AR> MC
5K5en Tood aaros orod Ko S

AR= MR
Ji5en oo asros oendd IS

Question Number : 42 Question Id : 3419799291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is true in relation to monopoly?
DEF 508 Somodod Bod IS HB 2.5y?

Options:
There is no unique supply curve

@Eaﬁ O ©z2l8 Jdrosdorr eotood
1.

Supply curve take the shape of a horizontal straight line

SR80 HE D08 DS 28O @otnod
>

Supply curve slopes upward from right to left
JHED T 8 S008 NS 28O @otnod

Supply curve slopes downward from left to right
SHD By S0 HE8 Bob8 D sotnod

Question Number : 43 Question Id : 3419799292 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is true in relation to price discrimination if in sub market-A

price elasticity of demand is = 0.5 and in sub market-B price elasticity of demand is 1.57
S5R7ES - O &° 8 &Sm0k TBiES o = 0.5 080k eDd5TES - AS° 8 ESrol aEiSEo

= 1.5 oond 58 DSFeD Jonosod) Bobd TRE° & ap?

Options:



Price in sub market -A will be more than sub market -B
655705 - & & &8, 655085 - & %08 &R B0tn0d

Price in sub market -A will be less than sub market -B
BHSTTS - D &° BB, edSoTVRS - HE° Lod $KSre dotwod

Quantity offered for sale in sub market - A will be more than sub market -B
SOET0)E5 - I8 wib) HBOKT0, ADITTES ~ HS° ol JBre dotnod

In both the sub markets, the quantity offered for sale will be the same

oot ﬁﬁj&ﬁ:ﬂﬁé@;ﬁé‘ﬁ @?&,é P 200780 SRR B0tnod.
4

Question Number : 44 Question Id : 3419799293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In which of the following market there is need for selling costs?

Bod & SrBSE® wxnEY Koirer ©Xd80 wHEean?

Options:
Pure monopoly

&G ity dle
1.
Perfect competition

Joged P&
> &

Pure competition
BHEJoD B
g
Monopolistic competition
, BSypd P

Question Number : 45 Question Id : 3419799294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



On the lower part of the Kinky demand curve i.e on the segment from kink and below:

808 850l B (Bod griio & ©bmr 808 ol (Bod grifo &ni:
Options:
Demand is relatively elastic

B0l ok —'U"F‘Eé@“&j& ZOR aotnod

Demand is relatively inelastic
EErol rad oS SemR) SOA &otwod

Demand is unitary elastic
&&rol DB B SeeQ) 0 e0énod

Demand is infinitely elastic
&55:‘305 oo -*n*n_, o=Q) EOA éotnod

Question Number : 46 Question Id : 3419799295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following is not true in relation to oligopoly?
208 R0 Somodod) Eod TS DO SHp7

Options:

There is cut-throat competition among the firms
Soge g Fod § S50%So8r O aotnod

There is Interdependency of the firms

s

aogfw JEHBo Se8HG GotrEon

There is lack of interdependency of the firms
.  R0Pe0 SBYBo EinerSlall- Yolnty)

There is non-price competition among firms
ealSo B0y FOSE N eoewod

“
o



Question Number : 47 Question Id : 3419799296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In relation to Mark-up pricing principle what is the value of Average fixed cost if,
Price= Rs 100, Average variable cost= Rs 60 and Net profit margin=Rs 15 ?

B8 = 100 Srarchen, Sien ©B8Kao = 60 Sraraben, IS erglo = 15 Sraraben ©ora
SrBes 58 oo (Hso Siiew Q8 Hrobo do8?

Options:

1 Rs 45

Rs 85
z.

. Rs 40

, Rs 25

Question Number : 48 Question Id : 3419799297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Under price skimming policy, business firms initially fix:
Denod 88 Jrdoss, v ;ﬁogw oo’

Options:
Low price and later increase the price

SESre HBR0 Qoo & So=d FED Dohsow

High price and later reduce the price
DENSTP HBD Agowod) & Sord HEH ég@m

Low price and later reduce the price further
S 55 Jowod ¢ SovE sos° HED ég@w

High price and later increase price further
Svkviglialelsy S.‘Jgoa:o& ® STE GO BOT® DOHSOW



Question Number : 49 Question Id : 3419799298 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In cost plus pricing method, the profit margin is fixed on the basis of:

Koo $B 8 deesos’, ergio &S APawoitrIB wrrdo:

Options:
Price
1. B8

Average fixed cost
SKéx %6 Jpodo

Average variable cost
Qe S8 Jpodo

Average cost
M oo

Question Number : 50 Question Id : 3419799299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Marginal Product= 20 units, marginal revenue = Rs 10 and Price is Rs 12. The Value
Marginal Product is:

&rod a8\ = 20 chrdiy, tarod ool = 10 Srarcher Hobak §B = 12 raraben
VOB aFoEEE Ded:

Options:

Rs 200

1

Rs 120
2.

Rs 240
>,

Rs 440

4

Question Number : 51 Question Id : 3419799300 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Which of the following is true in relation to quasi rent concept?
%@aﬁ:‘ e PRIL Honodod), @o&m%@ b eRp?
Options:
It is related to long run

&3 PSS é»g?e:ﬂﬁﬁ 2502080808
1

It is the difference between price and average variable cost
B8 Bt JEw S8 Hrobo BN & o

It is the difference between price and average fixed cost
38 Bk Jriéw S Fobo Hozy Bl B8 gréxdo

It is the difference between average fixed cost and average variable cost
e 26 oo HdAw SHED SBSpcho gy B 38 grealo

Question Number : 52 Question Id : 3419799301 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

Who stated that rent is a function of price of corn but not price of corn is a function
of rent?

“prérdo TR0 $BR BTEHE eotnod. SR TR0 Y FreEo P ETRSHE Goktd” ©d B
QAS5®?
Options:
Lionel Robins
O@PAS Tl

Joan Robinson
&5 oooSoD

Z.
Alfred Marshall
@ (8 é}alé;ef

3



David Ricardo

2OE B8
4. =

Question Number : 53 Question Id : 3419799302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O
According to whom entrepreneur earn profits for bearing non-insurable risk?
D58 (Boedo, s DeHerdd DB Y Peirod FEoDSOWHON BB oD

©BrR0?

Options:
J.B Clark
2.5, =5

1, e
J.S.Mill
38,008, &S

o
F.H.Knight
oD, 5. 35

=3

J.Schumpeter
B. 0055

Question Number : 54 Question Id : 3419799303 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following is a public good?
Bod =06° 08 HPE $H?
Options:
Radio signal
) BEGe WS



Cement

230083
o
Sugar
58
o3 i
Air travel
QIPR (Sdddes0
4.

Question Number : 55 Question Id : 3419799304 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following branch Musgrave did not put forth in his Multiple Theory of
Public Household?

Bod RS* O Ko HWooD HIF[S &5 HVHS §6 «F HPE FR FFTS° 3YTw?
Options:
Allocation

. BeRA00S

Consumption
DAGAR

Distribution

-

Do

Stabilisation

%365553

Question Number : 56 Question Id : 3419799305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



According to the principle of Maximum Social Advantage, with every additional unit
increase in public expenditure, the additional benefit to individuals:

KB APoinE (HEesso SmEo (B0, (H5hdr Hohos® i) (K38 wiSD cirdd BEbSVSS,
FHhed 500 «idD EdEreso:

Options:
Decreases
SASES08

1,

Increases
RN od

2.

Remains constant
%604’? &otnod

Fluctuates
"ajﬂiﬁabjérj;@fa 08 eoNbhod

4

Question Number : 57 Question Id : 3419799306 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
According to Wagner's Law, income elasticity of public expenditure is:

iy ~ 4 ""’-. =4 g }.n. )‘:-u_ _.-\F:E -~ .
T8 o (Bsebo, (KHghe oo Bwd) ewrad aEddo:

Options:
Zero

éjvzéaom &otnod
i

Less than one

258 %o S5 sotnod
2. e

Negative

- weaﬂééﬁaﬁn o] voeln)



More than one
2. 58 %08 ij.};eém el elen)

Question Number : 58 Question Id : 3419799307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following is related to the Wiseman-Peacock hypothesis?
Bod =0&° 28 IFHS - H=E $85e)5% Somogolod?

Options:
Discrimination effect

S¥es (HgreRdo
3

Incentive effect

EPerE (Hepdo
Z.

Concentration effect

BolBB%es (Pgrdo

=
Subsidy effect
4 G o

Question Number : 59 Question Id : 3419799308 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A type of Tax levied as percentage of value of a commodity is known as:

DR D Fodzdo Dy DBOT By B¥o 28?7
Options:
Unit tax

ORES DY
. >

Ad valorem tax
chbie B SO
2.



Progressive tax
DB DY

3.

Corporate tax
. SENDE DY,

Question Number : 60 Question Id : 3419799309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The ratio between proportionate change in tax revenue and the proportionate
change in tax base is called:

3%y T0dS” ohard SrED $HB errdos” edhars SrSpd Xy ) APED Do
SHen=tn?

Options:

Tax elasticity

5y TESE0

Forward shifting of tax
J0othD DY oderonod

Backward shifting of tax

L S vlnlsevelods)

Tax buoyancy

ﬁa’% mcﬁmﬁnj
4,

Question Number : 61 Question Id : 3419799310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



In relation to which of the following tax, impact and incidence of tax will be on the
same person?

Bob TIE D é?éafa Sonodod), By cfn:ﬁ;_ 8ol rdo B wodd rdo o8 i
- Yolhilovely

Options:

Value added tax

Dend eords E&é&
1.

Income tax
BTPODD DY

z.

Indirect tax

HBG DY,

=

Sales tax
T
E‘(‘.ﬁ:‘éuc@l o:né%l

4.

Question Number : 62 Question Id : 3419799311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

In relation to budget, subsidy is an item of:

2585 Somopod), SYE O30 BIE® 2.8 wodo?

Options:

Revenue in capital account

Sarerd HS° oond

1.
Revenue in revenue account
633#3:35 a‘ie@ﬁs ook

2.



Expenditure in revenue account

. BBy 5’3@65 Hposo

Expenditure in capital account
eSS 3’355865 Sroho

Question Number : 63 Question Id : 3419799312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fiscal deficit=Rs 1985 crore, primary deficit=Rs 1275crore.Interest payments equal to:

s°56%n = 1985 B Sraraden, P &%n 1275 By Sraraber o8 $& Boden:
Options:
Rs 710 crore
710 % Sraraden

Rs 710
710 Srarcoen
i
Rs 3260 crore
3260 &%y SrarcSen
=

Rs 720 crore
. 720 8% Groiren

Question Number : 64 Question Id : 3419799313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

In India, the Second Finance Commission was set up in the year:
PESBS0S BokS ©BE J05RY DoEN D% SodEBo
Options:

1 1952

1948

2



_ 1956

1954
4,

Question Number : 65 Question Id : 3419799314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following classification of budget was introduced with 1967-68 central
budget?
Bob RS B FS $658c% 1967-68 ToS wgBE" rin HREEFHD?

Options:

Zero based budget
By eords :::@eb’

Functional classification of budget
DB TEE 0gd H$0E8e

Performance budget
5088 oS

Balanced budget
QDOEDE DTS

Question Number : 66 Question Id : 3419799315 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The budget presented to the Parliament for the financial year 2019-20 is:
2019-20% 8% S0 RNE FEDotws® HIEDES 0ged:

Options:

A supplementary budget

28 ©d0d DG
1 =



A full-fledged budget
2.8 eOrron g8

A vote on account budget
28 &8 ul T o8 0ge

An interim budget
2.8 HEposs 2GS

4.

Question Number : 67 Question Id : 3419799316 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

The estimated tax revenue through State Goods and Services Tax in Telangana
State Budget for the financial year 2019-20 is:

2019-20 ©&8 $0SETVE Jowood Bworrs TR :agéﬁcﬁ"‘" =3 Sede D8y Srbos®
S308 wosTe SaHES STk

Options:

Rs 20,000 crore
20,000 &%) Grarchen
1.
Rs 40,000 crore
40, 000 &%) Srarcden
24
Rs 30,000 crore
30,000 &% Brarcshen

Rs 10,000 crore

, 10,000 &% &rarcdHen

Question Number : 68 Question Id : 3419799317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The period of 14® Finance Commission:
145 @gﬁ Jozpo G Treo:
Options:
1-4 - 2015 to 31-3 - 2020
1 1-4-2015 o0& 31-3-2020
1-4 - 2014 to 31-3 - 2020
5 1-4-2014 Hoé 31-3-2020
1-4 - 2015 to 31-3 - 2021
1-4-2015 ol 31-3-2021

1-4 - 2015 to 31-3 - 2019
; 1-4-2015 Hoo& 31-3-2019

Question Number : 69 Question Id : 3419799318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Human Development Index is a composite index of:
B85S 0B SrOE Y rde ) EH SeDL?
Options:

Three indices

| S Seden

Four indices
ey Jeden
2.

Two indices

y oL oeLen



Six indices
e Seden
4.

Question Number : 70 Question Id : 3419799319 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is not used in the construction of Physical Quality of Life Index?
Bod 08" TID Fa8 QYL £33 el 0§)88° BEFACLD?
Options:
Life expectancy

©0D: (D0
1:;
Child sex ratio
i SHgo doi AP
Infant mortality rate
85 HBereBen

Literacy rate

WETerEe BEL
ltay, -

Question Number : 71 Question Id : 3419799320 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Human Development Report of which year launched Gender Empowerment

Measure?
Q HoBST RS JowoRolS SN @&-&6@% DZ0ES® FSAFD OoRTOTE EeraeR)
(o8B0 TR?

Options:

, 2010

1990

2



2004
Sy

, 1995

Question Number : 72 Question Id : 3419799321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
National income = Rs 100 crore, per capita income = Rs 100000. Total population is:

s 8 0SrreoSo =100 E'?&ﬁg Erarchen, SeddemrciHo = 100000 draroben ©ond Swgo sy

Options:

1000000

1

. 100000

10000
=

4 1000

Question Number : 73 Question Id : 3419799322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following is not a characteristic of developing nations?
Bod 0&° 06 oD ToHEHRY B0 ©%n0 %?

Options:
Income inequalities

STPOD ©RNrNseD

Low rate of capital accumulation
Sredd DosaDto Bén SENST &0

High rate of illiteracy
Vel=o S0 Béw Sicolvaidh-Tellslo



Well developed infrastructure facilities

e @S0 TodS wderdee TETerenodero
4 3 ® )

Question Number : 74 Question Id : 3419799323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

According to demographic transition theory, in the first stage:
2ePoP DB ?a:goejo (@sed0, Jsd 8IS
Options:
Birth and death rates are low
| eSS HBAD Do Dy SHEE sotrap
Birth and death rates are high
2355 BoH0 HBere Déy JENST SotroD
2.
Birth rate is very high and the death rate is very low
2dTre Béw oo QENSHr o Hoberre Béw weee SERre dotnod
3.
Death rate is very high and the birth rate is very low

Ba8eseer Ben orer Qﬁé&ﬁﬁ" B05n wdre DL orew éﬁﬁ:@ﬁnﬁ Gotnod
4

Question Number : 75 Question Id : 3419799324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Which of the following is a cause of high growth rate of population ?
Bod RS DB warge HB Ot IS GoKerdE ToBee0?
Options:
High level of industrialisation

S é;o:a P85> E0é%Ses
1



High rate of urbanisation
ﬁ%sﬁﬁt’m Béw QEHre oo

High rate of growth of service sector

el olale) &wﬁé éﬁ;@ Ben q'}"‘.;a;érﬁ aoléio

High level of superstitions
Sorees SBYseew Sicv)lg - Telathle

Question Number : 76 Question Id : 3419799325 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is the central point in Adam Smith’s theory of economic

development?
Bod =&° D& SEDHYE ToF), €00 Srrosod® Bo Do ?

o

4

Options:
Capital accumulation
OTPOLN [oScDRNo

Exploitation of labour
(B

Z
Free distribution of goods
5D e Hod

=

Equal distribution of income

GO PSP Jodha
4,

Question Number : 77 Question Id : 3419799326 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



According to Ricardo, capitalist economies would end up in a stationary state in the
long run due to:

:Q:F &8 D55 8er08 oo

=g @80, 26008 oed ©8% Srdden &8 mreos® Hob
o o &~ T 2 @

oeA

Options:
Increase in wages above the subsistence level

LT TT® ﬁgwﬁj Do) ISTeen DBREL0

Increasing returns in agriculture
BrdraDod” BHEHR (HSHeren TeHeo

Diminishing returns in agriculture
é‘*éﬁ‘m@ﬁ:}oé’ aa (P&Heren oodeo

Increase in profits
4 P&t NS

Question Number : 78 Question Id : 3419799327 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In Marxian theory of economic development, the ratio of the surplus value to variable

capital is called:
vevifovivy) @5“-&@&: i::'f='<::u€$<:>ef519 orven HendDH SEHregFTiS S5y ) PV ADotrD?

Options:
Level of economic development

el N
e 4.,.:?:%,% PO

Rate of surplus value
Dorden Dendtén

z.

Rate of profit
L 55 Béw



Rate of constant capital
28 Doroivo Ews) Ot

Question Number : 79 Question Id : 3419799328 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
Who among the following emphasised on the key role of entrepreneur in economic
development?
Bob 88" 5 BPTPHBS” AHTH ) ) 808 FED 8580858007

Options:

J.N.Keynes
B.053. BQ)

J.Bentham
3. DoTPe

J.B.Say

=.8. 3

[ PR

>

Joseph Schumpeter

£525 Hohed
4

Question Number : 80 Question Id : 3419799329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following was discussed by Hirschman in his theory of unbalanced growth?

Bob =BS° BAV KB FEFS 83 ©V0HOE H)B VEFoBoE® $)oTH?
Options:
Backward linkages only

RE wXnomEen é.:ﬂ@_ﬁfa
1.



Forward and Backward linkages
SnofdH 0BG IE wHnorren

2

Forward linkages only
S0t wdoorren SrE

3.

Negative linkages only

2weS)E ©DOTPED S
4

Question Number : 81 Question Id : 3419799330 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
In relation to Critical Minimum Effort theory, stimulants are called:

BHES VD oG drroso’ (Hsedo, &8 5en ©dre:

Options:
Income depressing forces
©TPATERY é@oﬁ: Stloloplhy

1::

Loss generating forces
LRy, ‘%.%105: exotealoy
2.

Income generating forces

SLEGSPY) Q)RoD FHen
3

Output depressing forces

6380 $AoT JHen
4 9] =

Question Number : 82 Question Id : 3419799331 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Lewis model of economic developoment focussed on the structural transformation of:

TR @y, eferdys SRurer, Eob TAS° D JoYsiS HBeE003) §RRFEoN0E?

Options:



Primary subsistence economy
(PNE LSS @gﬁ SRS

Industrial sector
RO\ ENE BoKo

Primary service sector
EE DaeBoiko

Well developed automobile sector
ST @ﬁa@@ 063 «FIRS SoKo

Question Number : 83 Question Id : 3419799332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Balanced growth strategy is related to:

Hoehde éﬂj@ FoEo 528 5020609087
Options:

Short run

s .
ert?.Dﬂj S0

Long run
&%=e0
gy A
Very short period
O T YTU0
=
Market period
, STBY)S oo



Question Number : 84 Question Id : 3419799333 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following is not an indivisibility discussed by Rodan in his big-push theory?
Bod=dS® 08, Bes 85 HRIR ?&m;oéo@ﬁ $58100% ©dgrend S°H?

Options:
Production function

. ﬁséﬁj@ 20
Supply of Saving
o0 SR

2
Demand

= ESrob

. Profit

e
, T

Question Number : 85 Question Id : 3419799334 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Gunnar Myrdal is associated with which of the following?

Bod &S° BI&° Hnb MordH Jomoko ¢os?
Options:
American Drama
VDOER (R

Expansionary causation hypothesis

, DJBes B8 DB

Cumulative Causation Hypothesis

HodE ooNs 5’565%5
&



Triangular causation model
Scher =8 S
4.

Question Number : 86 Question Id : 3419799335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In terms of which of the following, the absolute advantage is determined in Adam
Smith’s theory of international trade?

SEDYS Do) @oé‘cﬁ'&;iicﬁ} 58 ?ot:g_:oéoé"‘", Bod AE B Eros® WS (HErerT)
Qgowoiero 2dAR?
Options:
Labour cost only
(F0 Hroho SrED

1.

Capital cost only
| SDrosS $obo SrE

Labour and capital cost
(B0 Sobadn Srresd oo

Raw material cost only
B0 Hergre HoHo He(EED

Question Number : 87 Question Id : 3419799336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
According to Classical theory of international trade, both countries can gain from
international trade if the two countries exchange goods in:

So(TeaD @oéc-&aié@ 285 Reroso (Hoede, & AHBS° 5D Bod Boren Srdto Tokod,
VOSTBAD HGo Ho¥ EBoH Brred Deo SenHEos?

Options:



2. 3 ratio
| 23398

2. 1 ratio

21 A&
o

1: 1 ratio
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1: 2 ratio
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Question Number : 88 Question Id : 3419799337 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is true in relation to comparative cost advantage theory of
international trade?
OSTBAD BgBo @) Hemrds Kb DR drrosedl Jomofod) Eod =8 06
2uadp?
o
Options:

It is a two good and one factor model only
36 Bot SdPen 8ok ol BB SHrae SrE

1.

It is a two good and two factor model only
30 BoK SHen B Toth ko e Sr(ER
z.
It is a two country, two good and one factor model
38 Both Roeew, BoH HPen HOK od soddo S



It is one good and one factor model only
38 2.8 HY HBodw ¥ s Soeae

Question Number : 89 Question Id : 3419799338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is an empirical test on Heckscher-Ohlin theory?

Bod >&E DB 50 - 4323 Eaci_?oe‘éo?_._} @NIaed ééﬁ‘?

Options:

Stackleberg paradox
85 0f Hbeo

Heberler paradox
Fobod 35080

Samuelson paradox
T SOS BH0&0

Leontief paradox

OGRS 8D 500
4,

Question Number : 90 Question Id : 3419799339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following is not an assumption of factor endowments theory of international

trade?
Bod A& &}&@Oét&;eﬁcﬁ: SBE =88 RoRBE Jrroso ) (b Sos?
Options:

Capital is the only factor of production

SrePto SPED e vto

1.



There are constant returns to scale

SBTFI03000 %6 D&Deren STmow
2

There is Perfect competition in commodity and factor markets
5% $BAsw B8 ErTRE’ SoFPENE dotnod

3.

No transport cost

Saeese Hp%0 OETESe0
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Question Number : 91 Question Id : 3419799340 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Author of a book titled ‘The Economic Development of Latin America and its Principal
Problems’

% oS EHeD HodS «F AT voe cHok 2] BHAYSS ey ©F (Hordsons:
Options:
H.W.Singer

. e, Doid

R.Prebisch

o8, 283

T.Swan
&, >R

3. ket

John. Timbergen
Q. Hongs

4.
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Correct Marks: 1 WrongMarks: 0



Which of the following indicates the commodity terms of trade?
Bod =&S® 26 Srd B Qmoddesy Jrddod?
Options:
The sum of price index of imports and exports of a nation
2.8 B¥o Gy BHBS HBe Srd) HBAH NS 8o S°d Iwgo

Price index of exports of a nation X price index of imports of a nation
=% o &mﬁg B8 BB Id) X B8 BRDE S8 Lo

Price index of imports of a nation minus price index of exports of a nation
2.8 Bdo Gw¥) BB o Ird - SBE D8 e Krd

Ratio of the price index of exports of a nation to the price index of imports of a
nation

2.8 B0 G DB BB IrHB HBCH B BHRE Bt rd) DKo LB

Question Number : 93 Question Id : 3419799342 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The price index of exports of a nation= 120, price index of imports of a nation= 150 and
income terms of trade of a nation= 104. The index of volume of exports of a nation is:

2888 NOHDS S8ekrd) = 120, ¢BF HHDE S¥e Srd = 150 508 B ewrdd S8

DoBden = 104 ©ond wid NS J08re Srod)
Options:

30

1.

106
130

142



Question Number : 94 Question Id : 3419799343 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Prebisch and singer are associated with which of the following hypothesis?
3OS 5805w LoKE Bod O HBBEYRE® Jomoro BOA GT?
Options:
Opportunity cost of terms of trade
S8E Daodde ©IseE8 00

i

Secular deterioration of terms of trade

5BE Qorse HBDE Leas
z.

Vicious circle hypothesis

2E0% DRBeaH0 ;’Jéﬁﬂo‘ﬁé
=

Market paradox hypothesis
505 BH00 DBBeS

4.

Question Number : 95 Question Id : 3419799344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
Which of the following is true in international trade in relation to nature of tariff?
@oéc:e:iid’rf 3’:@50&5‘3, e Jrerardd Somobod) (Bob >S° D8 es3p?
Options:

It is a tax on traded commodity

$8%0 260 SRD D 26 o8 Sy
It is a subsidy on traded commodity

SBLo 26N S 36 a8 IS
z.



It is a discount on traded commodity
$8Bo 28R S1D 2 36 o8 &

It encourages trade
38 S (BFS)ErR00.
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Question Number : 96 Question Id : 3419799345 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Direct quantitative restriction on imports is called:
BHHHOR VGO (PEE HBFreTEE oo

Options:

Import duty

BRASE 55 ©WOLrd
1,

Import dumping

, B8 ool wotrd
Import price

2 BI0H8 585 oyt
Import quota

) B8 Ser wotrH

Question Number : 97 Question Id : 3419799346 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is a type of account in Balance of payments statement of a

nation?
Bod =0&° 06 2588 DDode o :{3@5@55 2.8 83D gre?
Options:

Personal account

58 oo



Savings account

PNy T
2.

Current account
. X805 groe

Public account

HEE groe
4 =

Question Number : 98 Question Id : 3419799347 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
Which of the following is not an item of capital account of balance of payments of a
nation?

Bod =0&® 28, 2.8 8% DQoge o 5’3%655?0 Sredd rard® X wodo To?
Options:
Change in official reserves
w0 Qeore ESvien)
1. el

Unilateral transfers
; DX é&cﬁ: 288en

Foreign Direct Investment

B4 (D ennd
3

Short term private investment
L O (GonTen Dend
: ol O [

Question Number : 99 Question Id : 3419799348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0



Initially the exchange rate between dollar and rupee was $1= Rs 40. Assume that the
Indian government devalued its currency, therefore, now the exchange rate is $1=Rs
48. The percentage of devaluation of Rupee:

Er80t5os” e $0Bckn Sraran By 3850 B § 1=40 Srarchen 58 [HehEo &3
8B Hareyg 055 Taheo Pl (HRso SrEEctin $1=48 LGrarabenT Gobd. wond
ErarcH dod w0 Hwrey 055m Toho 2BACH?

Options:

20
i

50

2

10

=

26
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Correct Marks: 1 WrongMarks: 0

Visesh Krishi Upaj Yojana scheme aimed at increasing the exports of:
DIQ G 65E Tl Do D SQHe NDOIHeH oS BF8oSndos?
Options:
Petroleum products
| DE DD agge

Engineering goods
: so0adB0R SnHen

Industrial products
B (TanE B1Y

Agricultural products
p JdrcHE SRHen



